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1. ROFEARZERzICOWTHRT. (SHh45, AW15208, B2 308, CHdasy)

(1) 2sinz:\/§
L, 0<z< % L5 3.

(2)  cos? (loggz) =1
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2. RXDOSGEAZFE 2 ITOWTHRT. (SH455, A1520%8, B#25 308, C 4% )

1
1 cosx _ L
(1 o9 2

7272L, 0La<7m &9 5.

(2)  tan?(logyz) =1
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1. ROFHERZFEHzI2OOTRT. (SH45 8, A1 208, B2 308, CHhasy)

(1) 2sinz _ \/i
tﬁt,0<x<gib¢a

A OWTEE 2 L T30 %E L5 &,
log, 28" = log, 22
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sinz = 3
U
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O<x<2J:b, T =

(2)  cos?(loggz) =1

BRGNS, >0

ZDOFEMITB VT,

cos? (logg ) = 1

cos (logg x) = £1

logsw =nm (72720 ni3%%)

logsx =nmelogy3 (7272 L nld%E%)
logs x =logy 3" (7272 L n 13%E4 )
z=3"" (KEULnIBEH)
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ZDHUE, B IZH LT,
2nm XiE 2nmw +

EWVWIHIRLITTH K.

Wb BRI ZRT I LIHNS 2 L.
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2. RXDOSGEAZFE 2 ITOWTHRT. (SH455, A1520%8, B#25 308, C 4% )

1
1 cosx _ L
(1 o9 2

7272L, 0Lz <7 &9 5.

WA DOWTRZ 3 LT 202 L5 L,
log; 9°°% = logs 371
< cosz*log;9=—-1

i3

2cosxr = —1
1

& ==
cos X 5

0<z<m &b, .’I}I%ﬂ'

(2)  tan®(logyz) =1

HBEMD»S, >0
ZDEMEITE VT,
tan? (logy ) = 1

logy x = log, 2"™+% (7272 L ni3%EH)
x =27 (F2REULn 3B )

< tan(logyz) = £1

& longZnWi% (7720 ni3%50)

& logyw = (mr:i:%) ‘logy 2 (72721 ni3%E%)
<
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mr:t% BEBTHL00, JOMIZERSAZET.
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